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When the changes of two variable moves in opposite direction, the variables are said

to be
a. Positively correlated b.
¢. No correlation d.

The population Mean is
a. Slatistics b.
¢. Variable d.

Negatively correlated
None of these

Parameter
None of these

The scatter within a distribution that is high on each side indicates

a. High uniformity of data b.
c. Low uniformity of data d.

Qutliers of data
None of the above

Any measure indicating the centre of a sel of data, arranged in an increasing or
decreasing order of magnitude, is called a measure of:

a. Kurtosis b.
¢. Measures of central tendency d.

Skewness
All of these

Which one is the median of the distribution2,20,7,11,5,4,8,9, 12, 16, 23, 10

a. O b.
() d.

9.5
None of these

An example of the application of range in a real-world scenario would be __

a. Fluctuation in share prices b.
¢. Quality control d.

Weather forecasts
All of the above

The coefficient of variation is a percentage expression for _

L)y
d.

a. Slandard Deviation
¢. Mean Devialion

- and
a. Nominal, Real
¢. Real, Relative

b.
d.

Quartile Deviation
None of these

are types of measures of dispersion.

Nominal, Relative
Absolute, Relative

IfA={1,3,4,6,7) and B={ 2,5, 8,9} and 5={ 1,2,3,4,5,6,7,8,9}. Which one is the

complementary of event A.
a. A b.
¢. AUB d.

Whatdoes probability mean?
The total number of possible
oulcomes in an event

¢. The chance of an event happening

Probability of an event lies in between
a. Otol b.
c¢. ltom d.

B
None of these

The ratio of favorable outcomes to all
oulcomes
None of these

-1to0
None of these

USTMICOER-01



Size of Family

No. of Families

AL




T'hree balls are

re| .:‘,ii_:{ri:n.«’ﬂ:v!n‘[i;

lation ? 3+7=10

en herg) ht an d \"_\"{:_‘)1;',%“&; 'D{’r

—_—

nk Correlation Coetficient 1s us

nt repair jobs was selected and

and actual cost were recorded. Calculate the

orrelation Co ent and inter

the tablc given ;%‘;‘4[.:\'/:-

of the distribution of weight of all
sampl of 10 students was ird]Jh-‘f\'AV‘llﬂ.‘Xﬁ-C)

| of significance? (The

ance are




